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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in.

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
. . p . -;.Jn;lﬁgfugiui’dﬁ/d/}g .1
The number of bones in pectoral girdle is. '
£ ¥ s $r9 -‘az»ézfd PrLig | 2
" o Wolf Deer Fox This is a tertiary Carnivore.
’ @ e &b,
sl Sy | SesgPuk | UE A e bnild st Gizrd ST | 3
Lectobacillus | Streptococcus Saccharomyce’ | Agherpillus Alcoholic fermentation is carried out in the presence
s cerevisiae of
ud:fﬂ- =3 Wis S -q_dl‘?.{!J:J/:ﬁJ’R;f, 4
goou(:)ds ‘ Intelligence Weight Height An example of discontinuous variations is
AA Ludt | s o A cefieReimrin e cliory | 5
Morphine égg;gfe Digitalis Aspirin | Ofeofthe following drug is derived from minerals.
P WY e e d -{-—JJIJ LA | 6
Cancer Bronchitis Asthma -~ | Emphysema | It is a form ofallergy.
g,)lff(fy u@ / 7 jhf' Nig | ~c“_UJ//II 7 #Jég{./’u a
Calcium Latex Gums Resins | Which one is a waste grofluct of tomato
Oxalate Y A I
e Pt RS | i KB AL i b Kdue | 8
Glands Effectors Coordinators Receptors | These are organs, tissues or cells that detect stimuli.
2 > e & 7 e .
S| F5 L PR A eI Futes | 9
Parthenogenesis |  Budding | Fragmentation Emflry Yeast reproduces asexually by
ission
F el it ! e b L wi e AUl SES AL | 10
Suckers Rhizomes Corms Bulb A small underground stem surrounded by thick, fleshy
' ' leave with stored food is called.
o Jb s | S By A | a1
Buffon Mendle Charles Lamarck | Theory of natural selection was proposed by
. Darwin
b 5 s & a , . % L{(
&od gl A o wS¥untie £ 25t g oty | 12
Community | Ecosystem | Biosphere | Population | A group ofthe organisms of same species _<‘:._L"fi.~(
inhibiting a habitat at a particular time is called:
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Answer briefly any Five parts from the followings. 5x2=10

Give the effects of smoking on teeth.

Differentiate the acute and chronic bronchitis.

What changes take place during exhalation? Write any two.

Write down any two causes of kidney stone formation.

Differentiate the transpiration and guttation.

Define the terms hormone and endocrine gland.

What are the causes of epilepsy?

What would be the effects on vision, if any type of cone is not working well?
Answer briefly any Five parts from the followings. 5%2=10

Write differene between compact bone and spongy bone.

What are slightly moveable joints. Give an example.
Write two disadvantages of vegetative propagation.

What is Semen? Write down its composition.

Define genetics.

Write the names of such two nucleotides which make double
hydrogen bond among each other.

Deﬁne heterozygous genotype.

Why did mendel select pea plant for his experiments? Give

two features of this plant.

Answer briefly any Five parts from the followings. 5%2=10

Why wolfis called as top carnivores?
How smog formation cause air pollution?
What are epidemics?

How we car, say “Reduce” is the need of hour as being Pakistani?

- Write down two uses of biotecﬁnology in field of medicine.

Write down two objectives of genetic engineering.

Define Vaccine. -L}:/...g/"";fu:’g: (viid)

, 2 DU | |
Note: Attempt any Two Questions.
Write a note on Osteoporosis. —Q’ S /2 .‘.J/,{J/ u{j_»:“’:l ) @
Differentiate the mechanism of nervous'and chemical 4

coordination. Also draw a labelled diagram.’
Explain the different parts of the plant that help in natural - §

vegetative propagation.

E -8

Write four achievements of genetic engineering.

What are antibiotics. How bacteria develop resistance 5

against tise antlblotlcs'?
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What are Sulpha Drugs? Sl A6 vid
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Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q1
el | o ufg‘ B A e NS S SR |
Eggg:azf Ntl_ll;l;;grlle : fofrgg:fon Budding Rhizopus reproduces asexually by
u'?u'y‘;f ’ _'J,Li/ e gf'f.“‘/ﬁd‘{t . «@LMLH&’/{W}ZK?!U 2
Homozygous Recessive Dominant iirg:r?xrirrlll;g: The alleles which are not expressed are called.
Jred ety B! vk oA e Qe St S| 3
Bowmann’s Bladder Pelvis Hilus Cup-shape structure in kidney is called.
capsule
duf Ji'?o’:l ngﬁ _ﬁ;t'/gl:’;%l;)g_ﬁ?;?,ﬂ?n(z/t: 4
Temporal Occipital Parietal 1 ;r;?:l }'::Zta(l)fe l:irlain that receives nerve impulse from
/.E /-)/ d.sz"'/)lgj) e 42 -%L/&WJ;WIJM‘%/;LU% 5
Liver Kidney H?zi;snd Stori*fé%} A :"'Th_g-kpgx:pose of rib cage is to protect.
ey Sl | e w205 |9 4 LadfNIfI L) | 6
Evolution doxfi:)x;nce ?erlt;g; :':: sljlaet;riiln Mendel’s Taws are not implemented on
P dt ip? Syt e Bl i, |
Decomposers Water Consumers Producers | Which one is the example of Abiotic components.
ey J#t o oy e A BKG A i | 8
Plants Environment Earth Sun Source of energy materialfor all living organisms is
e LAk A 34 -z"_l:‘lhfé_lgklkc]'jf/ﬁ/?l.iﬂr(df;{ 9
Mini food ‘| Formic Acid GMO F er;r;c:)r(llted ;l':lclee}z;otem content produced by microorganisms is
Al sk Pz Lbe VLS P2 Stz | 10
Pasteure Wilmut Jffs ig? Fle nl?m g Who proposed the idea of sterile surgery?
Jk Sag | K | N b Letio K | 11
Plumule J/::/ ¥ ~‘"."Z ) o’f‘ A3 Cotyledons stay underground during.
| | o | ooy |
U’;)J/’ lf/&c,u;; L’fu&:cu LGJL.{I -c“_VﬂaJLJU(Zc/r’uta/’}(Lféufbuf/f 12
Only e 3-4 33 1-2 Tooth loss is time higher in smoker than in
time non smoker.
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Answer briefly any Five parts from the followings. 5x2=10 1Sy Feiiz élilét;d.{cuﬁd)bu 241
Differentiate the acute and chronic bronchitis. _éu Y19 J” 5’/'.,( sl y( i
What is the effect of smoking on circulatory system? fe b e, (/ 1] /'f s i
What are pleural membr;mes? Write their importance. -J./’l J V! ‘u:!lf/ / d/rL Jii
How do the halophytes hold large amount of salts in their cells? Vu‘léul//(,)g//lwd/d’uba’u‘uﬂ’alu" 6ok v
Write four major causes ofkidney stone formation. -é/../ﬁ&ﬁ!df.lkbrf,—d/’;u:uﬁf v
What are effectors? Give an example. ZaJesun s 8 i
How do the ears maintain the balance of our body? ?ujéui }/, J Ik () < Jagk i
Define hormone. - _é_a/ Ve L,( Uy vii

Answor briefly any Five parts from the followings.  5x2=10 /.S Feiiz & Ziabye § et 340y
Write functional difference between tendons and liga;nents‘ _g{ e f %) /dLJ;’ Ku"" Gulzis i
Write four symptoms of Rheumatoid Arthritis. Y Oy P
What is meant by pollination? Write its types! ~é/../:(u'(f‘ﬂ?§.ﬂ/g4:.uﬁjdg Aii
Why reproduction is essential in living organisms. Cen AU Jf Kuy)ﬁ FOUMEL v
Write the chemical composition of chromatin material” -é/ v Vf/dl,-/d/ J /"u s v
What is the difference between homozygous and heterozygous genotype? ?a.u/b’/u" st uﬁ s sl u_(’: vy i
Why Mendle selected Pea plant for his experiments? Write two-réasons. op?w?lfgu;;(b;” V/ééa@ Y3 C,',—'d-dl%t' vii

' _ 9%
Write difference between natural selection and artificial selection. _ef/ / u/uf itz g 7502 du’ vidi

Answer briefly any Five parts from the followings. 5x2=10  _J7z7etiz, & Lmét;&/ <Rt 44y
Define biosphere and also write its thickness range. _é/,fd{»JderJmléfJ/d///rL A
How producers use solar energy? {0 oA Jes- J If i lvs by i
Which of the biogeochemical cycle is called perfect cycle and why? "u:f/:lab‘ﬂn( Lﬁ VL}[ Jg L«Ji‘{ 2y LU/ Jii
How pesticides and fertilizers cause discases in animals? Write with d//k(ru"éulu)u/uft«/g:,ﬂiﬂﬁ)i g7 v
reference to water pollution. "ujl&..?:g,( Ugde s u:/:’(g
How fermenter optimizes the growth of organisms? ‘-'.;'_L"Lb/bﬁf Us# (§, uuu(gdf v
Give uses of formic acid. -2 F e e & L6 (vid) Defineadrug, oy 7§ S i
In some cases why booster shots of vaccine are necessary? S btas /uxfl:bf’uj ¢ /‘/,{[.w’g:ui’ et viii

Part I . s >

Note: Attempt any Two Questions. 9x2=18 L MLty e §fins
5.8, Describe the role of skin in homeostasis. ' 4 ..L/////b/b’ﬂnﬁu”‘//'n -
b.  Whatis ajoint? Write the names of different joints and 5 L/J]/:lu"ﬂrtig/' buil? elbafeiy o

explain moveable joints. -J/ <ol J u’ bd 1y
6.a. Write anote on largest endocrine gland of human body. 4 u,,,ﬁ u;‘/.&»{u’ l/(;ylc_/c_._/éf) dur e
b. What is fertilization®? Explain its both types. 5 -g[/..ou:d/(ulu:‘» JJl?‘gdyz}[w/&/ -
7.a.  Write the objectives of genetic engineering. 4 -u//},wl.‘o'zé_f;"}ly 3.7
b.  Which problems may arise due to norcotics? 5 "wérd' e JiL e (-
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